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2. Separation of powers
3. Populism
4. Political socialization
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1. Ina perfectly competitive industry, a permanent increase in demand initially brings a
price, economic , and producers.
a. lower, profit, less.
b. Lower, loss, more.
c. Higher, profit, more.
d. Higher, loss, less.

2. An overabundance of signs of competing auto dealers that resuits in consumer’s noticing none
of the individual signs is an example of
a. external economies.
b. External diseconomies.
¢. Internal economies.
d. Internal diseconomies.

3. Increasing marginal returns to labor may oceur at low levels of labor input because of
a. increasing average costs.
b. Differing factor proportions.
c. Increasing specialization of tasks.
d. Increasing use of machinery.

4. The demand for labor curve derives directly from the
a. average physical product curve.
b. Marginal physical product curve.
¢. Average revenue product curve.
d. Marginal revenue product curve.

5. A low rent ceiling will encourage
a. amore efficient allocation of housing
b. a larger number of units traded.
¢. No change in the number of units traded.
d. Increased search time and black markets.

\#.(30%) Consider the production function y = I K" ,where L = labor, K =capital, y = outpu,
and a is restricted to values between 0 and 1.
a. find the marginal products of labor and capital, MPy, MPx.
b. find the rates of change of these marginal products due to changes in both labor and
capital. Verify that the rate of change of MP,, with respect to K is the same as that of
MPg with respect to L.
c. Does the law of diminishing marginal productivity hold for this production?
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There are two problems in this section. FPlease answer the question in CHINESE.

3. (30%) According to Solow model, how would following @ and b question affect consumption
per worker and capital-labor ratio (or capital of effective labor) in the long run (in the steady
state)? Please graphically show your answers with careful explanations.

a. The destruction of a portion of the nation’s capital stock in a war,

b. A permanent increase in the rate of immigration, which raise the overall population
growth rate. '

c. What are major differences between Solow growth modet and new growth theory?

d. From the cross-country study, it is easily to find a fact that sore countries stay rich or
poor mote than a century. Why convergence of per capita income is not found for some
countries? Why?

4. (20%) Let’s assume that the central bank of Mexico is experiencing considerable capital
inflows and seeking a stable monetary policy to keep inflation in check, Thus, sterilization is
an effective instrument for the central bank. Please answer following questions based on the
assumption above.

a. Use the balance sheet of the central bank to explain how the sterilization works.
b. Y =f,+BA P+ B,AINGDP + S AInI+ SAInd +g
where Y = is the ratio of change in foreign reserve to the monetary base.

d = is the ratio of change in foreign reserve to the monetary base.

P, GDP, and i are price, gross domestic product and i for interest rate, respectively.
Please set up the testing hypothesis for active stylization policy for the central bank of
Mexico. (Hint: test 5, )
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